
Nice Derivatives
1. Use the properties discussed in class to find the following:
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2. For what values of x does the graph of f(x) = x4− 6x2 + 4 have a horizontal tangent?
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3. Consider α(x) = x4 + 2ex.

(a) Find the equation of the line tangent to the graph of α at the point (0, 2).

(b) Find the line normal the the line you found in part (a) that also passes through
the point (0, 2).

4. At what point on the curve of y = 1 + 2ex − 3x is the tangent line parallel to the line
3x− y = 5?

5. Find equations of both lines that are tangent to the curve y = 1 + x3 and are parallel
to the line 12x− y = 1.
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